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Exercises for Gwartney, Stroup, Sobel, and Macpherson, Chapter 17, “Gaining from International Trade.”

Open the workbook GSSM17_InternationalTrade.xls.The bold names before the descriptive material below is the name of the sheet to which you are to refer when answering a question.

Production. This sheet shows the technical information contained in Exhibit 2. The table in the upper left-hand side of the sheet shows the amount of output per unit of labor in the U. S. and in Japan. It also shows the number of workers in each country. 

The right-hand side of the sheet contains a list of some of the possible Food/Clothing combinations that could be produced in each country. The lower left-hand side shows how having the low-cost country produce more of each good can result in more total output without any change in either the amount of labor employed or technology.

1.
a.
Initially, worker day yields 1 unit of Clothing in the U. S. All other coefficients remain constant throughout this question. Under the initial conditions, a unit of Food in the U. S. costs _______ units of Clothing; in Japan, a unit of Food costs ______ units of Clothing.


b.
Select an amount by which U. S. Food production increases (Cell D12). Because the U. S. is the low-cost Food producer, select a positive value. 
· U. S. Food production increases by _____ units, the same amount that Food production in Japan decreases. Thus, food production stays the same overall.

· Clothing production in the U. S. decreases by _______ units, and Clothing production in Japan increases by ______ units. 
· Total Clothing production increases by _______ without any reduction in Food production.


c.
Keep the change in Food production constant, but select a new value for the amount of Clothing per worker hour in the U. S. (Cell D7). The new value is _______. 
· With this new value, the cost of a unit of Food in the U. S. changes to _______ units of Clothing. 
· Now the increase in Clothing production brought about by your change in (b) is _______ units.


d.
Do your results agree with this assertion: “When the difference in costs of a good between two countries is greater, these two countries have more to gain from specialization”? Explain. (In which case is the increase in Clothing larger—when the cost of Food in the U. S. is closer to that in Japan, or when they are more different?)
ProductionPossibilities. Like Exhibit 3, this worksheet shows production possibilities in the U. S. and in Japan. The slope of these curves (ClothingUS/FoodUS, and ClothingJAPAN/FoodJAPAN) show the opportunity cost of food in each country.

2.
The initial values in the table are the same as the initial values in the previous sheet. Given those values, a unit of Food costs 0.5 units of Clothing in the U. S and 3 units of Clothing in Japan. In Cell C7, select a new value for Output of Food per worker day, US. The new value is _______ units of Food per worker day. 
· Now the maximum amount of Food that the U. S. can produce is _______ million units. The cost of a unit of Food in the U. S. is now _______ units of Clothing.

ProductionConsumption. As Exhibit 4 illustrates, both countries can consume outside their production possibilities curves if the price of Food relative to the price of Clothing differs from the cost of Food. 

3.
Initially the ratio of the price of Food to that of Clothing is 2. Note the positions of the Consumption possibilities curves for the U. S. and Japan. Select a new price ratio. 
· The new price ratio is ______. 
· At the new price ratio, __________’s (U. S./Japan) Consumption possibilities curve shifts outward relative to its initial position.

ImportExport. Exhibit 4 shows the amount that each country must export in order to import the good for which it is the high-cost producer. 

4.
Select a price ratio. The price of Food is ______ times the price of Clothing.


a.
Select a quantity of Clothing for the U. S. to consume. 
· The U. S. imports ________ million units of Clothing.

· To pay for the Clothing, the U. S. must export ________ million units of Food, leaving _________ million units of Food to be consumed.


b.
Select a quantity of Clothing for Japan to consume. 
· Given the selected level, Japan. imports ________ million units of Food.

· Japan must export ________ million units of Clothing to pay for the Food.

Note: Japan’s exports of Clothing need not equal the U.S.’s imports of Clothing. Likewise for Food. This is because other trading countries exist. Worldwide, total exports must equal total imports for each good.


c.
Print the graph. After you have printed the graph, draw in the levels of exports and imports, as shown in Exhibit 4, Page 403.

ClosedEconomy. This sheet shows an industry for a country in the absence of international trade. The triangles indicate levels of Consumer Surplus and Producer Surplus. Refer to Chapter 3 to review these concepts.

No questions for this worksheet.

ExportingCountry. 

5. 
Choose a price above the “No Trade” price. The selected price is $________.


a.
For the price you choose, fill in the table below.

	
	
	No Trade
	Trade

	Price =
	$150
	

	Domestic Quantity Demanded =   
	30
	

	Domestic Quantity Supplied =  
	30
	

	Quantity Exported =  
	0
	

	Consumer Surplus =  
	$2250
	

	Producer Surplus =  
	$1350
	

	Combined Surplus =  
	$3600
	



b.
In what two ways do sellers gain from being in a free-trade world rather than one with no international trade in this good?


c.
In what two ways do buyers lose from being in a free-trade world rather than one with no international trade in this good? 

ExportingCountry2. This sheet shows in more detail the gains and losses when a country exports a product rather than selling all of the domestic output in the home market.
6. 
Choose a price above the “No Trade” price. The selected price is _____________. Write a sentence or two about each of the four labeled areas. 

ImportingCountry. The Law of Comparative Advantage dictates that each country will be a high-cost producer of some goods. If the country’s citizens are allowed to import such goods rather than relying entirely on domestic production, they gain. On the other hand, the domestic sellers are made worse off because the world price is below the price that would pertain if citizens were required to buy only from domestic producers.
7.
Choose a price below the “No Trade” price. The selected price is _____________.


a.
For the price you choose, fill in the table below.

	
	No Trade
	Trade

	Price =  
	$150
	

	Domestic Quantity Demanded =  
	30
	

	Domestic Quantity Supplied =  
	30
	

	Quantity Imported =  
	0
	

	Consumer Surplus =  
	$2250
	

	Producer Surplus =  
	$1350
	

	Combined Surplus =  
	$3600
	



b.
In what two ways do buyers gain from being in a free-trade world rather than one with no international trade in this good? (Hint: What happens to the price paid? What happens to the quantity consumed?)


c.
In what two ways do sellers lose from being in a free-trade world rather than on with no international trade in this good? (Hint: What happens to the price received? What happens to the quantity produced domestically?)

ImportingCountry2. This sheet shows the information in the previous sheet in more detail.
8.
Choose a price below the “No Trade” price. The selected price is _____________. Write a sentence or two about each of the four labeled areas. 

Tariff_1. A tariff helps two groups: domestic producers sell more, at a higher price, and the government raises revenues. Consumers are hurt, however, and the amount that consumers lose exceeds the gains by the other two groups.
9.
Select a positive value for the tariff. That value is _________.


a.
Given the tariff rate that you have chosen, fill in the table below.

	
	
	No Trade
	Trade
	Trade w/tariff

	Price =
	$150
	$75
	

	Quantity demanded =  
	30
	45
	

	Domestic Quantity Supplied =  
	30
	5
	

	Quantity Imported =  
	0
	40
	

	Consumer Surplus =  
	$2250
	$5062.5
	

	Producer Surplus =  
	$1350
	$37.5
	

	Tariff Revenue =  
	
	
	

	Surpluses + Revenue =  
	$3600
	$5100
	



b.
Experiment a little. Set the tariff at each of the rates that the scroll bar allows. At which rate(s) is tariff revenue maximized? At which rate(s) is tariff revenue zero? Why doesn’t raising the tariff rate reliably increase tariff revenue? 


c.
How does what you found above relate to the Laffer Curve?

End of Assignment. You need not complete the remaining material.
Tariff_2. This sheet shows the material in the preceding one in more detail.
10.
Select a positive value for the tariff. That value is ________. Given that value, write a sentence or two about each of the seven areas in the graph. 

Quota: Quotas have much the same effect as tariffs. The price that domestic consumers must pay, and the price that domestic producers receive, increases. The main difference is that the government does not gain any revenue. Rather, the revenue goes to those who have the right to import the allotted amount.
11. Select a quota level below 40. That level is _________. 


a.
For the chosen level, fill in the table below.

	
	
	No Trade
	Trade
	Trade w/quota

	Price =
	
	150
	75
	

	Quantity demanded =
	30
	45
	

	Domestic Quantity Supplied
	30
	5
	

	Quantity Imported =
	0
	40
	

	Consumer Surplus =
	2250
	5062.5
	

	Producer Surplus =
	1350
	37.5
	

	License-holder Surplus =
	
	
	

	Total Surplus =
	3600
	5100
	



b.
Experiment a little. If you were a lobbyist for the holder of a license to import this good, which of the quota levels (0, 5, 10, 15, 20, 25, 30, 35, or 40) would you try to get adopted? Explain.
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Please rate the assignment’s difficulty.  Circle one of the numbers on the scale below
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Extremely easy






extremely difficult

Please rate the assignment’s clarity.  Circle one of the numbers on the scale below
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4
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Extremely clear






extremely confusing

Please suggest ways to improve the exercise set, in terms of either clarity or content.

